


Select the most appropriate antonym of the given word. 

MOROSE 

(a) Sullen
(b) cheerful 

(c) unsatisfied 
(d) Mournful

Ans :- b 



Select the most appropriate antonym of the given word.

CORROBORATE

(a) confirm 
(b) approve 
(c) verify 
(d) Contradict

Ans :- d 



Select the most appropriate option to substitute the underlined 
segment in the given sentence. If there is no need to substitute it, 
select No improvement. 

The children are too young to sit up a long lecture. 

(a)No improvement
(b) sit across 

(c) sit away 
(d) sit through 

Ans :- d



Select the word which means the same as the group of 
words given. 

That which cannot be taken by force

(a) inaccessible
(b) impregnable 
(c) Inapprehensible
(d) immutable

Ans :- b 



In the sentence identify the segment which contains the grammatical 
error. 

Different-coloured natural food not only put a smile on children’s 
faces and also benefit their overall growth.

(a) benefit their overall growth 
(b) and also benefit 
(c) Different coloured natural foods 
(d) put a smile on children’s faces 

Ans :- b 



Given below are four jumbled sentences. Out of 
the given options pick the one that gives their 
correct order. 

A. Early on Christmas morning Pip returns to the 
graveyard with the file, a pie and brandy. 

B. On Christmas Eve, Pip an orphan who is about 
seven years old, encounters and escaped convict in 
the village graveyard. 
C. The convict scares pip into stealing food and a 
file. 
D. Pip, who lives with his elder sister and her 
husband Joe Gargery, a blacksmith, steals a file and 
some food.

(a) BCDA
(b) CBAD
(c) BDCA 
(d) DCAB

Ans :- a



Given below are four jumbled sentences. Out of 
the given options pick the one that gives their 
correct order. 

A. In a small town in England, there lived a poor 
little girl.

B. She was very excited but her right shoe was 
worn out. 
C. So, she went to a cobbler to get it mended. 
D. Her friends invited her to come to her 
birthday party. 

(a) DCAB
(b) ACBD 
(c) ADBC
(d) CBAD

Ans :- c



Select the correct indirect form of the given sentence. 

I asked the shopkeeper, “What is the price of this bike?” 

(a) I asked the shopkeeper that what the price of this bike was
(b) I asked the shopkeeper what is the price of the bike.
(c) I asked the shopkeeper what was the price of that bike.
(d) I asked the shopkeeper what the price of that bike was.

Ans :- d 



Select the most appropriate synonym of the given word.

EMBED 

(a) pull 
(b) Bury
(c) dig up 
(d) Rise

Ans :- c



Select the most appropriate meaning of the given 
idiom.

As clear as mud 

(a) extremely dirty 
(b) honest and legal 
(c) impossible to understand
(d) completely suitable for someone

Ans :- a



Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is no need 
to substitute it, select No improvement. 

I try to avoid travel in the rush hour. 

(a) travelling in
(b) No improvement
(c) to travel at 
(d) travelling on

Ans :- b



Select the wrongly spelt word.

(a) brood 
(b) Blosom
(c) boast 
(d) Booty

Ans :- 2



In the sentence identify the segment which contains the 
grammatical error.

The Cannes Film Festival attract some of the world’s most 
famous people.

(a) the world’s 
(b) the Cannes film Festival
(c) attract some of 
(d) most famous people

Ans :- (c)



Select the most appropriate synonym of the given 
word.

COMBUSTIBLE 

(a) nonexplosive
(b) fragile 
(c) Unbreakable
(d) inflammable 

Ans :- (d)



Select the most appropriate word to fill in the blank.

The thick smoke ______ out of the landfill site is making 
the city’s polluted air even more toxic.

(a) burning 
(b) Tossing
(c) billowing
(d) rocking

Ans :- .(c)



Select the most appropriate word to fill in the blank.

Financial institutions that had their premises in the World 
Trade Centre were crippled by the loss of ________ and 
hardware.

(a) individual
(b) personnel
(c) group
(d) person

Ans :- .(b)



Fill in the blanks with the help of the 
alternatives give. Select the most 
appropriate option for each blank.

Bill gates is the second-richest (1) 
_________ in the world. He is (2) _______ 
an estimated $103 Billion. His wealth (3) 
_____ only by Jeff Bezos, (4) has a current 
net worth of $116 billion. Gates is (5) 
____________ rich that an average 
American spending $1 is similar to Gates 
spending $1.06 million. 

Select the most 
appropriate option 
for blank No.1 

(a)Person
(b) personnel 
(c) character 
(d) Human

Ans :- .(a)



Bill gates is the second-richest (1) 
_________ in the world. He is (2) _______ 
an estimated $103 Billion. His wealth (3) 
_____ only by Jeff Bezos, (4) has a current 
net worth of $116 billion. Gates is (5) 
____________ rich that an average 
American spending $1 is similar to Gates 
spending $1.06 million. 

Select the most 
appropriate option 
for blank No. 2. 

(a) Classed
(b) worth 
(c) Valuable
(d) cost

Ans :- (b)



Bill gates is the second-richest (1) 
_________ in the world. He is (2) _______ 
an estimated $103 Billion. His wealth (3) 
_____ only by Jeff Bezos, (4) has a current 
net worth of $116 billion. Gates is (5) 
____________ rich that an average 
American spending $1 is similar to Gates 
spending $1.06 million. 

Select the most 
appropriate option 
for blank No. 3

(a) is surpassed
(b) surpasses
(c) is surpassing
(d) surpassed 

Ans :- a



Bill gates is the second-richest (1) 
_________ in the world. He is (2) _______ 
an estimated $103 Billion. His wealth (3) 
_____ only by Jeff Bezos, (4) has a current 
net worth of $116 billion. Gates is (5) 
____________ rich that an average 
American spending $1 is similar to Gates 
spending $1.06 million. 

Select the most 
appropriate option 
for blank No. 4.

(a) which
(b) whose
(c) whom
(d) who

Ans :- d



Bill gates is the second-richest (1) 
_________ in the world. He is (2) _______ 
an estimated $103 Billion. His wealth (3) 
_____ only by Jeff Bezos, (4) has a current 
net worth of $116 billion. Gates is (5) 
____________ rich that an average 
American spending $1 is similar to Gates 
spending $1.06 million. 

Select the most 
appropriate option 
for blank No. 5. 

(a) So
(b) too
(c) as 
(d) Such

Ans :- a



Select the correct passive form of the given sentence.

Bill Gates has given away twenty seven percent of his wealth in 
charity. 

(a) Twenty seven percent of his wealth had been given away by Bill Gates 
in charity.

(b) Twenty seven percent of his wealth has given away Bill Gates in 
charity.
(c) Bill Gates has been given away by twenty seven percent of his wealth 
in charity. (d) Twenty-seven percent of his wealth has been given away by 
Bill Gates in charity.

Ans :- d



Select the most appropriate meaning of the given 
idiom. 

Spill the beans 

(a) create difficulty
(b) make an excuse 
(c) reveal a secret
(d) frighten someone 

Ans :- c 



Select the word which means the same as the group of words 
given. 

A large impressive house 

(a) mansion 
(b) Cabin
(c) shack 

(d) fort 

Ans ::- a



Select the wrongly spelt word.

(a) emphasis
(b) emporium 

(c) Emmision
(d) emolument

Ans :- c




